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45 You are going to need some strips of paper because

this might help you solve our problem today.
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3 I took half as many
‘ I took 6 sweets. H sweets as Emma.

iy
9 I took twice as many
E mma Elliott sweets as Emma.

How many sweets did they take altogether?
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85 It cannot be solved because you
4 don't know how many sweets all
of the children took.

§Z Is this true?
5
7 ? i
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3 I took half as many
5 ‘ I took 6 sweets. H sweets as Emma. .

=

-

N I took twice as many
Emma Elliott sweets as Emma. Lulu

0O

How many sweets did they take altogether?

U

oA

o

How many different parts have we got to work out

here to solve the question?
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Are there clues to help us?
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I solved the problem using bar models.

Can you do the same?

4

7

[ am going to give you lots of time to try and solve this. |
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BS o How many sweets did Elliott take?
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o How many sweets did Elliott take?
o,

2x6=12
Elliott took 12 sweets.
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{ o How many sweets did Lulu take?

1 oo [
Lulu . E
Working out
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o How many sweets did Lulu take?
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6+2=3 ”.

Lulu took 3 sweets.
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number of sweets
Emma é 6
- 6+12=18
Elliott '“‘ 12
bl . 3 18+3=21

6+12+3=21
They took 21 sweets altogether.
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How many cupcakes does " ‘ buy?
r %

3 . b 1 . o)
(L4 buys 10 cookies. kil'd buys 5 as many cookiesas -~ buys.
h A ) A A

(@) How many cookies does = buy?
-~

(b) How many cookies do k& @ and - buy altogether?
Adak FA

Ravi has E as many | £2 ' coins as Hannah has.

Hannah has 8 ( £2 ' coins. Y Gy
(@) How many coins does Ravi have? ' ' ' '

..
"~ buys 10 cupcakes. - ‘buys % as many cupcakes as _ buys.
p4 .

it then have a go at
5

Esolvlng it using any
20Jc the practical or
17ptctorlal methods

that we have
@ explored in school )
.

5thls week.
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35 20 The questtons on

fy 3 “ithe next page are
G.Challenge questions.
80 /,JHave a go at these
845 19 jto give your brains

3 ) real work out. 250
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o Elliott bought twice as many marbles as Emma bought.
Holly bought % as many marbles as Emma bought.

Emma bought 10 marbles. How many marbles did they buy altogether?

Emma |

Holly — of O

L]

Emma

Elliott |
C

Total —

Elliott — O

They bought marbles altogether.




apples as Ravi’s mother bought.

How many more apples did Ravi’s mother buy?

r A .
Charles’ mother A A
Al
Ravi’s mother
. § -
Difference — of O
Ravi’s mother bought more apples than Charles’ mother bought.

o Ravi’s mother bought 34 apples. Charles’ mother bought % as many [/ ,3

2
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o Lulu had % as many 20p coins as Amira. Amira had thirty 20p coins.

How many 20p coins did they have altogether?

Lulu — of O
«-[1000

They had 20p coins altogether.
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